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The Blood Supply to the 

Kidneys

Figure 26.5c, d















collecting duct cells. 

Distal tubule cells gradually change to 

collecting duct cells and the histologic 

aspect, in many cases, do not permit 

differentiate between cells of this portions 

of the nephron with light microscopy. (H&E, 

X400).





Renal Tubules

COL = Collecting Tubule

DT= Distal Tubule

T= Thin segments of the 

Loop of Henle
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normal cervix with a smooth, glistening mucosal surface.



normal cervical non-keratinizing squamous

epithelium. The squamous cells show 

maturation from basal layer to surface.



spermatic cord. 

appendix epididymis. 

appendix testis 

epididymis,

body of the testis

Leyding cells 

active spermatogenesis.
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54) Stem cell.

Answer:  A

55) First cells with n number of 

chromosomes.

Answer:  D

56) Type B spermatogonia.

Answer:  B

57) Early spermatids.

Answer:  E

58) Primary spermatocyte.

Answer:  C



match the following:

59) Acrosome.

Answer:  B

60) Location of mitochondria.

Answer:  A

61) Midpiece.

Answer:  A

62) Location of nucleus.

Answer:  C



63) The stage called ovulation.

Answer:  E

64) Vesicular (Graafian) follicle.

Answer:  C

65/Primary follicles.

Answer:  B

66) Primordial follicle.

Answer:  A



67/IdentifY structure A

A/CORPUS ALBICANS

B/CORPUS LUTEUM

C/CORPUS MAGELUM

D/GRAFIAN VESICLE

E/PRIMARY FOLLICLE

A



A 68/IDENTIFY A

A/SECONDARY FOLLICLES

B/PRIMARY FOLLICLE

C/TERTIARY FOLLICLES

D/ATRETIC FOLLICLE



73/Where this 

pictures has been 

taking from?

A/ VAGINA

B/BREAST

C/PENIS

D/URETHRA

E/URETER



83/ Identify 1

A/ Leydig cells

B/Sertoli cells

C/ interstitial cells

d/a,b correct

e/a,c correct

-------------------------------------------

84/ FUNCTION OF #1

A/ They produce testosterone in the 

presence of luteinizing hormone (LH).

B/ They produce testosterone in the 

presence of FSH

C/Maintenance and protection

D/ They produce Estrogen in the 

presence of luteinizing hormone (LH). 

e/I am confused

1

2
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